T I 1 HEA < 20] :Z:ﬂ:_ [ T i 71 9 W : 8

Total No. of Questions : 20 ] [ Total No. of Printed Pages : 8

Y-182120-C
fom= - ‘Tﬁﬁ

Subject : Geography

qug : 3 que | [ quis : 75
Time : 3 hours ] [ Maximum Marks : 75

Frdor c (3D () wlt W T St
Instruction : (A) Attempt all questions.
(ji) STATEHATTEN T@Ifas § 7Y |
Draw the diagrams / sketches wherever necessary.
(iif) W IS 15 A 20 q F WA ¥ oviafiw famey g we §)
In Question Nos. 15 to 20, intemal options are given.
(iv) gfie aifua o, fa wedl N AEfaa i svven wanfas R e g,
Th WM W I whafs / fadrarsti & 1-7 fag foin
Visually impaired students will write 1-1 point of speciality of
that places in the map-making questions.
(v) &y afyd o ey WeE ¥ I, S T 90 & WH W
Fae fagan fa@n |
Hearing impaired students will write the long answer type

questions with points only.
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T . (|) WY FEE 1 TGS ¥E €1 38 g (), @S (9) W
Tvg () T 1 VS T § uig 7 § 991 v 9 & A

1-1 i STEfed B
(B) Question No. 1 is an objective type question. There are

three Sections—A), (B) and (C) in it. Five questions are
given in each section and each question carries 1 mark.

-1 @S~ 3) el fawed g fafan [1x5=5]
Section-(A) Choose and write the correct option :
() 'feraniel aHa wd fawia et & sfadaeie g9l w1 ssEA
HAE e © 1 3% gy e w R
(3) F. ¥ W ¥ (@) fae@ 2. on=am
(7) Fefiw o (?) fewifmi

“Human Geography is the study of the change of active human

Instruction :

and dynamic earth relations.” This definition is of :

(@) Ku. E. C. Sampul (b) Vidal de la Blache
(¢) Fredrich Ratzel (d) Demanjian

(i) 3T afeEH gAY g
(37) fawfaa a= () fawraeia &
() afasfaa &= (3) fyos ax
North-Western Europe is :
(a) developed arca (b) developing area
(c) undeveloped area (d) backward area

(i) SAEEA 1 gfe ¥ RA &1 TR B T ¢

(37) faeR (%) Wenrs

(9) oETg (%) Tafeam

The smallest State in terms of population of India is :
(a) Bihar (b) Maharashtra
(c) Chhattisgarh (d) Sikkim
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(iv) WRa ¥ fd=E &1 qad agT A ©
(37) el (7) FL A%
(§) e () =fgar

The largest means of irrigation in India is :
(@) Canals (b) Wells and tube wells

(c) Pond (d) Rivers
(v) o FH TR &S T WEAH ST

(37) ®He 3am (F) == IAM

(@) gA T 3T (3) wE I

The largest and the oldest industry of the country is :
(a) Cement industry (b) Paper industry
(¢) Cotton industry (d) Jute industry

wva-1  @ue-( /) fied Tl @1 gfd S [1x5=5]
Section-(B) Fill in the blanks :
(i) SR B —— F ATAE FEA T |
Osaka is called Manchester of ___.
(if) g # gfte @ fava % waifys | 7@ — ¢
From the point of view of transportation, the world’s busiest
riveris ___.
(ifi) —— T ¥ FEHE 1 AT W e wwiEn & i € €
Houses or habitats of  settlement are made up of local materials.
(iv) —— i wra fafifd e wed €
___ are called man-made stones.
(v) forelt @u o) yifa el % — e W Pl et §)
The progress ol a country depends on the development of ___.
U911 Que-( 9 ) Ifem ey EiliE,Q : [1x5=5]
(D (I
() werfmE (31) BUHTE W
(if) Tea W THY STHE 6 (q) gal
iy S
(i) IfHeR TR (}) IW YW
(fv) TED FAH Sl W HEA (3) =M
EakiCE
(v) THers seam |99 (3) feeeht
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Section-(C) Match the column :

M 1))
() Indonesia (a) Chhattisgarh region
(if) The highest ratio of rural (b) Huaa
population in India
(iff) Religious town (¢) Uttar Pradesh
(iv) Plant to get energy from (d) Ujjain
urban waste
(v) Bhilai Steel Plant (e) Delhi
e : (") W wHE 2 B 7 aF Afqagsaia T ¥ ) TS WH W

2 3 ayEfed €1 (I F oifuway w2-dmr 30 1= ¥)

Instruction : (C) Question Nos. 2 to 7 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

wyT-2 I E & R afasy @ e R [2]
Draw a diagram of the arrow pattern of Rural settlement.

wi-3 T e fR wRa ¥ ? [2]
What is the town village?

qo-4 it W senta < Sl % A fafae) [2]
Name the two industries based on agriculture.

UYA-5  SFTEEA WhRv Yot # gA fafaw [2]
Write the formula of the Population Concentration Index.

U6 el R FEd € ? [2]
What is the Town?

WeA-7  OEe i SieEl R Té w wea ¥ 2 TRt 3gm v fafan) 2]

Which river is called the lifeline of Chhattisgarh? Write its origin site.

frdor : (8) W wHiE B | 14 T AfaeyEedd WE ¥ WeE T W
3 37 Iyrafen § 1 (ST H Afusad yr=-d 50 v ¥)

Instruction : (D) Question Nos. 8 to 14 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

W3-8 MG P Sl Wi vl Fifwg ) 3]

Describe the nature of human geography.

M-59 C
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(@) Write the scale of given diagram.
() Name the given diagram.

()  Which continent has the lowest population density?

ST G QA T AP § 2 3]
What is the meaning of Trade balance?

T 2011 1 SAVAT F FFEAR AT F famgum fien & 2 ww A

femam & R & R fafE [142=3]
According to the 2011 Census, what is Chhattisgarh’s sex ratio?

Write the reasons of difTerence in sex ratio in India.

T e R FEd € ? 70 96 w0 w5 g g [1+2=3]
What is the Intensive cropping? Write the formula to know it.

TR § e 3a & F A fafaw) (FF 77) [3]
Write the name of cement industry centers of Chhattisgarh. (any three)
BUINTG & S I W feoguit fafan ) [3]

Write a note on the Jute industry of Chhattisgarh.

: (%) WE OWHIH 15 Q 17 9% agSid WH € YTde W W
4 3 mefed ¥ 1 (INC ) AfuFaw w=-HH=l 75 I ¥)

Instruction : (I¥)  Question Nos. 15 to 17 are short answer type questions.

I'ach question carries 4 marks, (Maximum word limit of

answer is 75 words)

2RT T T8 W &yl (TISCO) & g & i fafe) [4)

qei-15
Wnite the reasons of localization of Tata Iron and Steel Company.
YT/ OR
fyrerrd v waw & wHRET & s fafag)
Write the reasons ol localization of Bhilai Steel Plant.
wya-16  fava & WR W@ siadgda amel @ aoiq s [4]
Describe the world’s tour major intercontinental airways,
M-59 C
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39T/ OR
TE-AEAfE taEn S wRafEn B se-ran = w2 @ we Fif

Why is the Trans-Siberian Railway called the Lifeline of Siberia?
Clarify it.

WA-17 MG I 7X@ &l gid g i 7o =R s 34 T/ ¢ ) 7l 2 4]

Indian coastline is long, but the trade of fish is not so advanced. Why?
3IqT/OR
"'die s fawm F I ® 1) 38 Y 9 gfe Fif)

“Iron ore is the mother of development.” Confirm the statement.

fdr : (W) W9 % 18 | 20 9% HIAig UH 81 T&F TH W
5 3 arefed § 1 (I Y Afyerdan w=-4mr 150 U= ®)

Instruction : (F) Question Nos. 18 to 20 are long answer type questions.
Each question carries 5 marks. (Maximum word limit of

answer is 150 words)

UgT-18 VNG & WHR #Ffaa § Frifed w vefvia it [5]
(a) &= &l @ (b) fawmaEeE™ 9
(c) TeiHe ¥ie () TR
(e) FEE Y
In outline map of India, show the following :
(@) The Gulf of Kutch (b) Vishakhapatnam Port
(c) Pulicot Lake (d) Narmada River

() Aravali mountains

/OR
BUrE % iR wAfas W Frifwa w1 wefia st .
(a) TEQ T (b) oETE W TEE
(c) sirTHeE (d) &SR &
(e) T U UL Ia '
—w mn~ : e LT

Scanned with CamScanner




[8]
In outline map of Chhattisgarh, show the following :
(@) Hasdo River (b) Capital of Chhamisgarh
(¢) Bhoramdev (d) Diamond producing area

(¢) Kanger Ghati National Park

WA-19 T ¥ <fie o quid freifea WiEl % S W HIET [5]
(a) fram &= (b) W= T
(c) T (d) W=7
() =EE™
Describe Pigmy s life on the basis of following titles :
(@) Residence area (6) Physical formaton
(¢) Clothes (d) Food
(e) Business
372 a1/OR
TEE & Sigq &1 FUF FH=i{Hd Weel & JEE W 9
(a) fram ax (b) TTIE TR
(c) =& (d) N[
() =TaEM™
Describe Masai’s life on the basis of following utles :
(a) Residence area (6) Physical formaton
(¢) Clothes () Food
(¢) Business
WA-20 9 €W & 39 faf@u ) (a1 vi9) [5)
Write the solution of forest conservation. (any five)
HTqT/OR
R WYY F Iy fafew) (w8 o)
Write the solution of Soil conservation, (any five)
M-59C
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